() Let f (x) = kb4 2x*+3x-1. Then the
- humber of positive roots of f(x)=0 is

94 (FY 1-SEM)
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() If zis a complex number, then |zja_
i z @O wfla MU W, (SEE | 2|2 =
(A) 122
(B) 27
€ z
(D) 2z

(i) Let A and B be two arbitrary square
matrices. Then

I A &IF B R wot 36T
ACIICH EX G

(A) AB=BA

(B) AB # BA

(C) A+B=AB

(D) (AB) =A"'B-!

(tv) If J_1 —7 and nis any poéitive inteéer,
then I-4n+3 | '
M 1 = OIF n 6l REFE @I o2
MYl T, (OfSAZCET §4n+3

(A) i

(B 1
(C) -1
(D) -1

(FY)SEM-1/MIN1/MATMINIO14/BL. 2

‘t

nce
(V) 1f a,f,7,6 are the roots of

equation
-2x" = 5x° ~15x? +10x + 8 =0, ther
aa(ﬂ+}’)+ﬁ}!(a+5)=
WM a, B,y, 6

—2x* —5x%> =15x?> +10x+ 8= O

(A) =5

(B) S

(C) 15/2 .

(D) -15/2 _ ‘

(vi) If each root of the equallo
' i ased by 1

, +32¢2.~—8x+|'1; 0 is ncre .
then the resultant equation 1S

X +3x% —8x+1=0 ANDIOE HC! .
o1 1% s TR, gl 1o T AT
L TR TR (R '

A) y®-11y-11=0

(B) Yy’ +1ly+11=0

(C) y*-1ly+11=0

(D) y®+11ly-11=0

63 (FYISEM-1 /MINL [ MATMINIOI4/BL 3 Conte
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(vii) If @ 1s a root of x"-1=0, then which

of the following is not true ? - (5) Find the square root of g2 -1+21@-
TR (0T T AR ? .
(A) a™mis a root of x" -1=0 . (i) Expand tan-! c039+isfn9) as a POWET
' - cos @ —isin o

a™, x"-—1=0 331?1'
(B) o™ is a root of x"-1=0

a™n, x" -1=09 3

series in tan 6.

tan™ (w) 3 tan 0F I fzpitA

cosf —isin @
(C) @™ is a root of x"—1=0 P AL
", X" =1=03 I @ 2o +2%2=5
(D) "™ is a root of x"-1=0 4 "If sin(a+if)=%+iy, then prove that

am/n, xn_]-:Oq‘ ‘
_— & i .sin(a +if) = x +iy T, (9T T hal

(vui) Let A = [3 4]. Then (here I .—_[é ?}) .|
IR # - (a) X2 cosec’a —y?’sec’a =1
1 2 ' 1 0 . B _
I A =[3 4], (T (Z1® Ié[o IJ) - (b) x* sech?p + y? cosech®f =1
2 ' o I T

y 3 1 | | N s Ty | 3 1 k
B A _"E(A'*'SI) sintx= x4 X IO X

2 2:4 S

-1/MINI/MATMINIOI4/BL. 4



1 -3

A = :| by
{ -1 of * -2 4
na ¢ .

e the roots of the equation

then find the value of

3+2=5

)
-

Answer the ollowing questiona (un’y ﬂ';‘:{
_ e Lo

O SIPREA Oaa g s (i wish)
() Express (5=8i)" in the form of A+ (1

(5=31)" A+ {13 winiaw s pay

()  Prove that (eps ) 1)
LIV S W
8 1 n') 7 () I l

() TFind the modulus of  (N*|lgp Fsn T4l)
(1)) (1=1),

(iv) Find the elgenvalues of (he following,
matrix

A TN clgenvalue Fl wa)

(V) Examine whether (he following, matrix

A 18 singular or not,
G N R s AR )

-4 1 -6

As| 1 2 .5

6 3 -4

63 (POSEM-V [N (MATUSIO1 88, ¢,




) a#*d

B a=*°

© a=° .
(D) a="3

)

Litan+)s/2 IPICBIT T ZW

(A) 1
B i
© -i
(D) -1

63 (FYJSEM-1/MIN1/MATMIN1O14/BL

o

ef(4n+1):r/2 is equal to

1onContds i |

(U) SOIVe th

e - :
by mat following system of equations

X method -

O e
Ty N YD CTores “1%fS 2itaiet 13
| I

ququ{m ﬁa -.,
1 TS e <t e rafive (e
(AT =51 eremt wfg iR

63 (FYISEM-1/MINI/MATMINIOI4/BL, @

Contd.
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re the Toots of the Quatigy,

( a, P/ o(r# 0), show that

hmmmm\ _
( 3 4 Q.H+ r

X

- e T e e T ——— | —— e m——

2 wQu

a_ _
>, r

X A. 2+8=10
Ig__ﬁosmwiﬁqﬂg feT2t S weiq
6+4=10
(@) Solve by Cardon’s method
“ardon 3 sif eiziol 3R i 2wy
4 x® + 8x — 30=0
(b) Solve the equation
2X" - x* ~18x+9
. | _ =0 1f two roots
(i) @ Ia s a cube H.owﬁ of unity, then . _ are equal in magnitude but
f0d the value of : ~ OPposite in sign.
M o, 19 51 TV T, (90T T efy _ wxm..awlma+@uo AAIFEICH!
W _ RN .
% P i - P IR T 551 T e
T.l%._‘&v +AH+8ISV %&Mﬁ_
e —————
o G- TNEL 10 U 163 (FY)SEM-L/MINLMATMINDO 4B, { 1

370
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63 (FY) SpM-3/MIN/MATMIN2014

2024

‘ MATHEMATICS
Paper MATMIN2014

( Analytical‘ Geometry )
Full Marks : 70
Pass Marks 28

. Tlme.- . :..-Three hours B

The figures in the margzn indicate
full marks for the questions.

1. - Choose the correét answer : 1x10=10
ST ga ?ﬂfi Bfnea :

() Let P be a pomt n a two-
- dimensional plane whose polar

coordinates are (\/— , 7T/ 3). Then its

Cartesian coordinates are

Contd.
- 119/FY (Sem-3)
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13
o (%)
i) If the pair of straight lines represented

by the equation ax? + 2hxy + by® +
2gx + 2 fy +c¢ =0 are perpendicular, then

I ax2+2hxy+by2+ 20x+2fy+c=0
AN &S P I T q0ET 719

%— —

(C) a+b=0

(D) h®*=ab and af’ = bg’

(iii) If ax’ +2hxy+by2 "_—.0_ represents a
conic, then which of the following 18
not the tangent at (x,y') ?

T ax? + 2hxy + by? = 0 Wmm tﬂﬁ

comcj@ﬂ,mwmﬂﬁﬂ'ﬁ\@‘f (x,Y')
RS ot i zm 2

(A) axx'+h(xy' + x'y)+ byy =0
(B) (ax'+hy')x +(by' +hx')y =0

ax+hy y '

(D) (ax+hy)x' + (by +hx)y' =0

(fv) The equation ax?+2hxy+by? +2gx
+2fy+c =0 represents a hyperbola,
1f — ' -

ax® +2hxy + by® +2gx +2fy +c =0

FAAFIAOIT B! SEFS &M, IR —

119/FY (Sem-3)/BL K Contd.



(v) The straight line Ix+my=n s a |

gent to the ellipse x*/a® + y? / p2 =,

if—
I+ 1Y = nwmma
2/a vyt /b =1 TATEB Bl oty

(D) a** +b*m® =n”
(i) The parametric coordinates of the

hyperbola xy = c® are—

119/FY (Sem-3)/BL 4

(A) (¢/t,ct)
(B) (ct, C/t)
€ (St 1)

(D) (Y/t,c%t)

(vii) The centre of the sphere

X' +y’ +2° ~6x+8y—-10z+1=0
1S
J‘32"‘3!2+Z'2—69::+8y—102+1=0
(IO (R, ']

(A). (3,-4,5)

(B) (-3,-4,-5)

(C) (_3:_4)5)_

. (D) (31 _4: _5)

(vui) Every section of a right circular cone

by a plane perpendicular to its axis is

M @b right circular cone ¥ @3 By

119/FY (Sem-3)/BL 5 - Contd.



(D) & hyperbola
PDRIEELS

(ix) The equation Yz +2zx+xy =0
represents—-—

yz+zx+xy=0 HWWW_
(A) a pair of planes
Qe I TN

(B) a sphere
4ot CalleTe

(C) a cone

51 *<P

/FY (Sem-3)/BL 6

(D) a cylinder

(x) The guiding curve of a right circular
- cylinder 1s— -

g6! right circular f?ﬁl@m gmdmg curve —

(A) an ellipse
40! ToIYe
(B) a circlo ‘
@Bl 38
(C) a pair of straight lines
qﬁm AT
(D) any closed curve
Rt 37 I

2. Answer the following questions : (any five)
S 2x5=10

wmwm (Rt #lsot)

() = Transform the followmg equatlon to
polar form

OeTq W‘Tﬁﬁ polar form-© ferall :
(2 +y°) =a’(x* -y’)

119/FY (Sem-3)/BL /4 . Contd.
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‘he equation of the

0 where the
3x+4Y -10= OTigin is
transformed to the point (2, 1).

qﬁ‘ciorlglncﬁ (2,1) WWW@

o 3x+4y-10=0 @WW%
seaeet ferdtl

(i) Find the angle of the straight lirfag

represented by the Equatlon——-

252 _5xy+ 3y’ —2x + 3y = 0

_5xy+3Y° "23’5‘%35’ =0 ANV
sifefafeg 9 JRA (AT TS G ety
er

(iv) Does the equation
3x2-8xy+7Y° -4x+2y-7=0
represents a central conic ? If so, find
its centre.
IMZ 3x? -8xy+ 7Y’ -4x+2y—7=0
AP 9Bl central conic I&H, (o
A9 (P! T |

Y (Sem-3)/BL 8

———

- -

e

1

?

3.

119/FY (Sem-3)/BL 9

(v) Prove that the line y=x++5/6

~ touches the ellipse 2x? +3y° =1-

QA N I Yy=x+ 5/6 AT I
2x° +3y? =1 TogenE = I |

(i) Find the radius of the following sphere

O (eI Jog [Wefa 4
2x* +2y* +22? —3x +5y+7z+3=0

(vit) Find the equation of the cone whose

vertex i1s the point (1,1,0) and whos¢
guiding curve ‘is y=0,x2+y*>=4.

G2 *RFOR AR Fief T A T
(1,1,0) S1F guiding curve

y=0,x*+y* =4

Answer the following questions : (any six)

5%x6=30
oo Al emmm %m Faat (Rt Z361)
() Find the value of k, so that the equation
' kx2+3xy—5y2+7x+14y+3=0
may represent a pair of straight lines.

MR kx® +3xy —5y% +7x+14y +3 =0

W@mmww (TS k 3
RIEREERE ST

Contd.



fiv) Reduce the following equation to the

{”) Il)(‘?ﬁpolc Of the line Ix + my+n = 0 I;:nq

the i |

b 2 _ th |

rCSPCCt o the para ola y? =4 x| '
I+q.

standard form: |

oo AR standard SRRE ARTE 7 -
14x? —4xy+11y° -44x-58y +71=0

conic 4x®+3xy+2y” —3% .
at the point (1,-2). (Give detail
procedure). -

©5] conic (R (1,-2) @ =HFere
FFREte! AT -

(el o1 et IR ARR)

(vi) Find the equation to the right circular
cone whose vertex is (2, =3, 9) and the
axis makes equal angles with the axes
and semi-vertical angle is 30°.

semi-vertical P &F9F W 30° |

(vir) Fir‘ld‘ the §quaﬁon of the cylinder whose
guiding lines have the direction cosines
(,m,n) and which passes through the

circle x2 +22 = ag, Yy =(.

@ FofereRter wRiead e Tt 19 guiding
line 1< direction cosine @& (L,m,n)
T X2 + 2% =a?, y = 0 JEOIRM AR I

119/FY (Sem-3)/BL 10




(i) Find ‘he equation of the cylinder whose
wity) B

X_Y =z & 76w
_.erators are parallel to 1-5-3 8 | _
il iding curve is the _11‘ ? ax® + 2hxy + by® +2gx +2fy + ¢ = O
r C .

e Ilosj iu— 3. ' o AP G FIECILP aifofia
< =,ﬂ%— | o 3R] R s IBIBL I |

' " (x" yr)

x_Y_= SR G (i) Show that the equation
e 7= _2 3 TSR 2T i

4x* +12xy +9y”> +8x+12y =0

et represents of pair of parallel
° ' ' ~ straight lines and find the distance
ind the equation of the sphere which | between them. 2+2=4

TR 4x° +12xy +9y? +8x +12y =0
4. Answer the following questions : (any two)

10x2=20 | (b) Find the equation of the polar of a given
were Al AR O A (Rigeerey 751 3 point P(x,,y,) with respect to the conic

(a) (i) Find the condition under which
the equation '

ax’ +2hxy + by* + 2gx + 2 fy + ¢ = O
represents a pair of straight lines
intersecting at some point (x',y’).

r_:
... e

¢3UC2*"27"JCy+by2 +2gx+2fy+c=0.

R OV R P (x,,y,), ax® +2hxy + by® +
2gx+2fy+c =0 conic@“ﬁ ACATF polar S
TaRRe el 5 |

/FY (Sem-3)/BL 12 R .
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. taﬂgent plane to the SPhEre

th .
(c) Ifﬂ +y° + z2 =r? makes intercepts (@ (Y  Prove that the cones
4 2
: , ¢ on the coordinate axes, shoy ax” +by? 4+ cz? =0 and
tl’;at xz/a+y /b+zz/c=0 are
rec o
1/a” + 1/b* +1/c* =1/r? ; e
, , , | W‘TWC‘{IG_,C?_‘_by?_l.Cz?:OW
2 + 2% =r? (IO % .
gt X" +Y x2/a+y2/b+z2/c=0 ﬁ@@‘
AT S TS N (AR Rt oy | SR =
b 2 e @@ : o .
a, | ,- (1) Find the equation of the pair of
) 1/a2 +1/b? + 1/c? = 1/r? k. . tangents from a given point (x',Y’)
R e to the ellipse
. prove that the equation
(ZZ} 2 : xQ/afZ + yQ/b2 —
2+ by” +C2° + 2ux + 2uy +
G 20 J ! @mh‘\ﬁﬁ'ﬁ(x',y')'ﬂw
+a = “—.‘ _
2W2Z ' xz/az 12 /b2 ~1 @Wﬁa Bl
represents a cone, if b ol WOl St AR o 4L |
uz/a+02/b+w2/c=0- - S+5=1¢ |
g ax’ +by” +cz’ + 2ux + 2uy + 4 N
owz+d=0 5 iR
ARG B I I, (OTT el
&

wla+v’b+w?fc=0 |

119/FY (Sem-3)/BL 14 - 0t B 119/FY (Sem-3)/BL 15 560
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63 (FY)SEM-3/SEC/MATSEC2013

2024

MATHEMATICS
Paper : MATSEC2013
(Scilab ) e
Full 'Marks.’: 40  N
Pass Ma.rks 16

‘Timeﬁ . Two hours

The figures in the margin indicate
- Jull marks for the questions.

1. Choose the correct answer : = 1x5=3

() Which one of the following functions 1s
true about Scilab?

(al)k ' They are all user-defined.
(b) Functions dd not have arguments

(c) User-defined functions are a
subset of all functions

(d) User-defi‘ned* functions are a
super-set of all functions

Contd.
120/FY (Sem-3)
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etric functions

ue function

(iv) Which one€ of the following is not used

to write algorithms for numerical

computation ?

(a) FORTAT
(b) Python
(c) Java

(d) Calculator

() Which of the following is not 2
mathematical operation 1n Scilab ?

(a) : Division

(b) Multiplication
(c) Addition

(d) 'Computation

Answer the following questions : (@ny five)
2x5=10

(1 Wl‘ite'j.any four physical constants in
Scilab. -

(i) What is Scilab ?
(iii) What is Autocompletion in Scilab ?
(iv) What is Tab Completion ?

(v) Write four mathematical opei‘ations n
Scllab in precedence order.

(vi) Write any two predefined mathematical
functions in Scilab. |

(vi) Write any two mathematical functions
~1n Scilab. '

120/FY (Sem-3) 2 a2 120/FY (Sem-3) 3 Contd.




3 Apswer the following questions : (any three)
ox3=195

() What are the five main data types ?

@ what are the five parts of Scilab
workspace ?

i) How to write & text file in Scilab?

(iv) What are the different types of plots in
Scilab ? _ _ _

(v) Write the steps to install Scilab in PC.

4. Answer the following @zommob . (any one)
_ 10x1=10

i How to plot 2D and 3D graphs in
Scilab ? _

.. What are matrix and vector ? How to
do matrix and vector in Scilab ?

120/FY (Sem-3) 4 =40



Total number of printed péges =8
63 (FY)SEM-3/MAJ/MATMAJ2014

2024

- MATHEMATICS
Paper : MATMAJ 2014
. (Elements of Real-:* Analysis )
Full Marks : 70
. Pass Marks : 28
Tlme . 3 hours

' The ﬂgures in the margin indicate
- full marks for the questions.

1.  Choose the correct answer : 1x6=6

- (a) The set N of Natural numbers is
() bounded above
(i) not bounded above
(i) bounded below

(lv) not bounded below

115/FY (Sem-3) S
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n two distinct reg] n

' Betwee :
( )} I“ra}'S lies

there &

(1) .a rational number

umbers,

i) two rational numbersg
(iiy) finitely MaNy rational numbers

fiv) infinitely many ratjong] Numbers

(c) A series 2U IS called absolyte]
convergent if y

(i) the series X |y |ig devergent

(i) the series Zun :

(iv) the series Zun :

(d) If X and Y are

Couﬁtable sets then
XNY is also " “n

() Countable Set,
(1) Uncountable Set.

(i) Both countable and uncountable
Set. Oy '

(iv) Absolutely uncountaple Set.

(Sem-3) 2

(e 1f a and b are any tw

115/FY (Sem-3)

O pO Sitive rea'l

ere
numbers such that ar<b then th

(f) A positive term SEries an
convergent if'and only if

() Pzl

Answer the following questions :

(a) Find the supremu
the set

X={}-+/HEN}
n

(any five)
2%x5=10

7 and infimum for

Scanned with OKEN Scanner



S S
1S Sm-’-{ is divergent,

(e) Prove that the sequence {x )

1
where X, =— IS a
Lo Cauchy sequence,

() Define Cauchy's root test f
convergence of a series., °r the

(g Show tht the series Z__’Q_ .
| 1S

n n
convergent.

. Answer the following questions : (any ix)
: S

- OX6=3(
ate and prove Bolza |
no-
theorem for a sequence. WelerlS f-;laf;

J

5/FY (Sem-3) 4

(c) 1f a sequence of closed intervals (a,b,]

is such that each member [an+1:bn+1] 15

one and only one pol
the intervals of the sequence.

(d) Show that sequence (s,} where

(. 1Y o v
Sn =(1+'—) 's convergent and that
n .0

1im(1+-;1-) lies between 2 and 3.

| | 0 (__1)n-1
th e :
(e) I§ t? seri S,ﬂzﬂ I

's conditionally

_ Contd.

115/FY (Sem-3)




he convergence of ‘ -
(g) Test € follow; | ' Prove that a n€
series DY Cauchy root tegt : “Wing | ) 0 sufficient condition tor ba
e
1+_1__)'"2 i monotonic Sequ_enFebOSnded,
Z n | convergent is that it 1S "
State Squeeze theorem. Use ;¢ , 0, hog ) . ceries
(h) Tt to ShOW (u) Show that the . 1
- ' F 1 | 1 NE, b, +..-+—"""—_F+.”
lim SI*% _ | ~ . - ———+—p ' (logn)

diverges for p>0

(i)  Show that the sequence * .
- . (c () U Tu is a positive eI series
c ) .

X = 2y Xpp1 = szn COnVergeS to 2. ' i _ S'D.Ch that
4. Answer the following questions - (any tw ) 1im (un]l’.‘ =1, then prove that
_ ' o n=®
12x2=04 series
(@ If Yu. is a positive term serjes such - () Converges if 1«1
that '
I 4=38
fiity i) diverges 1
}11_23 1:+1 =, then Prove that the S€r ' 0 for all m,
n 1] ] 1€S (u) If 11m an = a_‘['ld an 2
() converges if I<1 then prove that a0 4
() diverges if [>1
() the test fails if = 1 5+5+2=19
115/FY (Sem 3) 5 - Contd
115/FY (Sem-3)




d) (i) If x,x, arc positive and

1

Kot =5 (X, +X,,) then prove that

the two sequences with values

R:H?Nm,:. mDQ + Hw».xfun.mv

One is decreasing and the other is
increasing both converge to the

_mmBo :B:.w.?, ,._.mk.& _.m

(ii) . m:oé Smﬁ Eo wmzom
=l 3. + ”_.

convergent. s and 4

ba A
o e )

500

115/FY (Sem-3)
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MATHEMATICS

Paper : MATMAJ2024
[ Differential Equations (ODE] ]

Full Marks 50

full marks for the questzons : -

1.4 ChOOS€ the correct answer 2\ 1x5=5

. The order of the dlfferentlal equat1on

'd4 id2

+-C-Z-F+5—&-F+ 3x = sznt 1s
0 L
fii) - 2.5 kR
Gi) 3
(1v) 4‘ N

116/FY (Sem-3)
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| ; |
1 of

|  o»f the followin : _ , .
b, W}fu‘h ‘:"](C;umion 1S Hneagr Ordlnary | d. The particular integra |
ﬁﬂvrc'ﬂ“”' v °% 1S
‘ | (D2—3D+2)y=e
d’y , aY L 6y? =0
i a 23 (i) xe”
Sx
dy , 5% 16y = ) =
i) d‘__..-—-:;/+5dx+6y-—0 i) 5
3 eSx
d’y .‘_i_-z i) A
ﬁ”/ ?+5(d.x) +6y=0 (itt) 12
’ eSx
d*y dy (iv)] S=
(iv) a7+5y2;+6y=0 25
e. The differential equati()ﬂ
- If the Wronskian of the functiong - .
Y, (x) ‘Y dy 3
and y,(x) is-zero, 1.e: W( ' | —Z +4x——+ XY= 0
2 | : yl?yj,))—-o, then dx dx
the functions Y,(x) an
%(¥) and y, (x) are called is a second-order
(i) - linearly dependent () linear homogeneous
(i1) non-linearly dependent (i) non-linear homogeneous
(i) linearly independent e (iii) lnear non-homogeneous
(iv) non-linearly independent | (1v) non-linear non-homogeneous
116/FY (Sem-3 3 Cont

m-3| 9,



5 Answer the following questions : (any fiye ' | -
NSWC _ 2x5_—-_10) g. Write the formulation of the equatlon

of limited growth with harvesting.

. Show that the function fdefined for ai

real x by / (x) =2sinx+3cosx is an 5 3. Answer the following questions . (any five)

explicit solution of the differential 5x5=25
equation o |

a. Show the relation x*> +y° =25 = 0 1s an

..-iy-+ y=0. implicit solqtion of the differential

dxz
ay O on the interval I

. { X+Uy—=
b Find the integraling factor of | equation Y Ox
| defined by -5 <x<5.
(1+y2)dx=(tan‘1y__x)dy ' |
b. Solve: (3Jv:2 + 4xy)dx +-(23~’J2 T 2y)dy =0

c. Examine the following differentia]

equation is exact or not : if;
c. Solve : (x—4)y4dx—x3(y2—3)dy.—:o

(3x+2y)dx+(2x +y)dy = 0 .;: | |
d. Solve the initial value problem (IVP) 1n

d. Draw input-output compartmental 2 AN
diagram for CO,. [ equation —-= —-kN |
e. Find the general solution of the | A L . |
differential equation . with initial ‘condition N(ty)=n,.
y'-4y=0. | e. Find a differential equation for the
/. Find the Wronskian of the functions " amount of salt in the tank. at any Hie
2 .3 Are thev li _ t. (Note that concentration can be
x,x,x°. Are they linearly independent ? difined as the mass of salt per unit

volume of mixture).

Y (Sem- |
(Sem-3) 4 ' 116/FY (Sem-3) v Contd.



method to solve _.ﬂ .
o (b) éﬂuﬁm the differential equation of drug
e q [ assimilation model of a single cold pill
%L%é =x* - 2x 42 T and solve it. 2+8=10

ﬂ

!

g. Solve by the method of variation oHH.
parameter the équation

. Ll _;!':# _J_-q-—-I--Hﬁ-I-.

2
m+m€ = secax

h. Solve :

T e e gy e, g LT P 2= A

Ab_m lwb+mvmu e’ sinx

4. Answer the following questions :

(@) (i) . Solve the following differentia]
equation by finding an Eﬂomwmmbm
factor S

(Sxy +4y* + 1)dx +(x* + 2xy)dy =0 _

|
f

() Write down Bernoulli's equation
and solve it. . 1+4=5

116
/FY (Sem-3) 6

116/FY (Sem-3) 7 _ >°0




